Wpolatility Function, 3 options, time independant
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Figure 1: Uplatility Function U=A.A1, 4.87. A.41

T1=A.16 C1-184 Ui=-8.89%
T2=A.16 c2=118 uz2=8.81
T3=A.16 C3= 949 U3=8.81



Option Price — BE Price, 3 options, time independent

Ki=100, vVi=0.090, Ti=0.16, HO=100, wu=0.20, Tigna=-0.2,Gammna=0.3
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Figure 2: Option minus Black-Scholes Price

T1=A.16 C1-184 Ui=-8.89%
T2=A.16 c2=118 uz2=8.81
T3=A.16 C3= 949 U3=8.81



Inplied Uolatility, 3 options, time independent
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Figure 3: Implied Uolatility U=A.81, 8.897, 8.81

T1=A.16 C1-184 Ui=-8.89%

T2=A.16 c2=118 uz2=8.81

T3=A.16 C3= 949 U3=8.81



Uolatility Function,

3 options, time independent
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Figure 4: Uplatility Function U=0A.801, A.85,. 8.89

Ti=8.16 C1=-16d Ui=@8.85

T2=8.16 Cc2=118 Uz=0.89

T3=8.16 C3= 78 U3=8.8a1

1a0



Inplied Uolatility, 3 options, time independent

Ki=100, Vi=0.030, Ti=0.16, H0=100, wu=0.20, Tigna=-0.2,Gamnmna=0.3

tine to
maturity T

strike K

Figure 5: Implied Uolatility VU=A.881,. 8.85. B.89

T1=A.16 C1-184 Ui=8.85
T2=A.16 c2=118 u2=8.89%
T3=A.16 C3= 949 U3=0.881



Inplied Uolatility, 3 options, time independent

Ki=100, Vi=0.030, Ti=0.16, H0=100, wu=0.20, Tigna=-0.2,Gamnmna=0.3
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Figure 6: Implied Uolatility VU=A.89, 8.85, 8.801

T1=A.16 C1-184 Ui=8.85
T2=A.16 c2=118 u2=8.881
T3=A.16 C3= 949 u3=8.8%



inplied volatility at the nonew
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Figure 7: Inplied volatility at the money, U=RA.@1, .87, A.@1

T1=-A.16 C1-18d Ui=-0.89
T2=-A.16 c2=118 uz=8.81
T3=A.16 C3= 940 U3=8.81





